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Question Id : 9209067386 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

UEiYl & YUR IR sl & IR diforn

ffHE, aor o) § G9! Y81 Sl -
EU1 43 IR0 8 o1 $9 fa ued,
e &1 & 90 A 87 S A

3R 31 @ 9 diefj &1 08 yered
B offl & gupd o @ 1d 9,
¢ A1e R YT, dgal oidl 8
ded 311 8T ot iR 4R
T ol A @ wR e gnfEal
g W T T g el 9

ad e 718 g9 @1, S J T8
SR TERT AR A1 B <2 BT

B X W I B W @1

7 3raTe T8 T 4 B wedl 8

Sub questions

Question Number : 1 Question Id : 9209067387 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A4 fbae dia 9 97

(1) 3HHS 2) IHF
(3) TS 4) HXSF
Options :

92090629201. 1
92090629202. 2
92090629203. 3
92090629204. 4

Question Number : 2 Question Id : 9209067388 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

H 39! &d d& @dl g

(1) AR (2) AW
(3) AU (4) dd WY
Options :

92090629205. 1
92090629206. 2
92090629207. 3
92090629208. 4

Question Number : 3 Question Id : 9209067389 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U G B yae 7d 9 Tl 87

(1) @8 dreff (2) B el
(3) & e (4) Hewre aref
Options :

92090629209. 1
92090629210. 2
92090629211. 3
92090629212. 4

Question Number : 4 Question Id : 9209067390 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I¢ P9 W UeH dgdl odl 87

(1) IR (2) AW
(3) TeW @) Ie R
Options :

92090629213. 1
92090629214. 2
92090629215. 3
92090629216. 4



Question Number : 5 Question Id : 9209067391 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el H9 Uil 9 @ 4T 2

(1) UL ol | (2) PHUH
(3) SFARFd A | 4) BYUDI A
Options :

92090629217. 1
92090629218. 2
92090629219. 3
92090629220. 4

Question Id : 9209067386 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

UEliYl 3 UR Wyl & I difere

fAfe, aor oR o 391 T8 SEET -
EU1 43 IR 8 4141 $9 fa e,
dre & & A0 & 77 o A

3R I & &1 Uil @1 g8 e
0 ot & g s @St g 9,
T 1¢ IR Ued, ggdl ordl 8
ded 31 38T ot 4R 4R

s ol | @ o T gnfEat
g WY TN A 5 el 9<id

o Tl 12 g @1, S § wed
3R UG TR TS I gl Pl

W W IR B FW B

f afare T8 U1 49 $ 9Ed1 8

Sub questions

Question Number : 1 Question Id : 9209067387 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

A4 fbae dia 91 97

(1) 3H® 2) UA®H
3) TANF (4) AXRSE
Options :

92090629201. 1
92090629202. 2
92090629203. 3
92090629204. 4

Question Number : 2 Question Id : 9209067388 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

# 3% e db o@dl e

(1) AR (2) AW

(3) &7 HY (4 U W
Options :

92090629205. 1
92090629206. 2
92090629207. 3
92090629208. 4

Question Number : 3 Question Id : 9209067389 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

& g &1 yae 71d 9 Tl 87

(1) &3 urf (2) BIe Ul
(3) & Ui (4) Hewd gl
Options :

92090629209. 1
92090629210. 2
92090629211. 3
92090629212. 4



Question Number : 4 Question Id : 9209067390 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I¢ Y IR Ued dgdl ardl 8?

(1) W 2) AW
3 WW 4) IR
Options :

92090629213. 1
92090629214. 2
92090629215. 3
92090629216. 4

Question Number : 5 Question Id : 9209067391 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

il 9 Ui | de 4R TR 2

(1) St ol d (2) HATNY
(3) SFARFd Ui g 4) BIUEd
Options :

92090629217. 1
92090629218. 2
92090629219. 3
92090629220. 4

Sub-Section Number : 2
Sub-Section Id : 920906235
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 9209067392 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



B WY & 21 T?

(1) e d=<id (2) HEHe gad
(3) Udd=<N (4) THDIA Fld
Options :

92090629221. 1
92090629222. 2
92090629223. 3
92090629224. 4

Question Number : 6 Question Id : 9209067392 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B HY 9T 1 TR

(1) 9heg=id (2) HEHd g=id
3) Udiddg<l (4) JHBIA T
Options :

92090629221. 1
92090629222. 2
92090629223. 3
92090629224. 4

Question Number : 7 Question Id : 9209067393 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o &1 yafgar g

o 0 @ »

gt

E. e
14 feu v el § § 98l 3 &1 994 Hifo -

(1) SadASRsB
(2) HFACIHRD
(3) HAADSIIRE
(4) &dd B3R D

Options :

92090629225. 1
92090629226. 2
92090629227. 3
92090629228. 4

Question Number : 7 Question Id : 9209067393 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ol BT UHigarE 8

ffdra

GER!

Wd

gaof

E. dilam

19 AU 70 faeseul # I Hel 3R &1 99 Fifo -

(1) SadASRsB
(2) HFACIHRD
(3) HAADSIIRE
(4) &dd B3R D

g o om e

Options :

92090629225. 1
92090629226. 2
92090629227 3
92090629228. 4

Question Number : 8 Question Id : 9209067394 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFafafad & o9 a1 a9y = 82

A.  dgl IS A HINE B

B. T8l 3% @Rl HIGE |

C. @8l 3Hd Al Ai9g 8|

D. 98l @I 3FHT HINE g

=i fou e fashed! # 9 Tl SR &1 99 Hifeie -

(1 A
2) B
3) €
(4 D

Options :



92090629229. 1
92090629230. 2
92090629231. 3
92090629232. 4

Question Number : 8 Question Id : 9209067394 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFafafad & o9 a1 a9y 2 82
A.  Tgl 3D A HNE B
B. 8l 3% GNl HIGE |
C. dgl ofHd i A9 g
D. 8 @ 3F®I AN ¢
4 fow U fased § 9 Wl IR &1 94 HIfeiT -

(n A
(2) B
5.5 R 3
4) D
Options :

92090629229. 1
92090629230. 2
92090629231. 3
92090629232. 4

Question Number : 9 Question Id : 9209067395 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tl | & 91y g 11 e S

gl &l i
PIEH AP o
(A) BR (1) WA
B) of () By
(€) & () UGS
(D) @F® (V) U

412 fau v fasedi © 9§ 98l IR &1 994 SIS

(1) (A=), (B)-(V), (Q-(11), (D)-()
(2) (A=), (B)-(111), (C)-(1), (D)-(N)
(3) (A, (B)-(I), (C)-(), (D)-(IV)
(4)  (A)-(), (B)-(1), (C)-(), (D)-(IV)

Options :

92090629233. 1
92090629234. 2
92090629235. 3
92090629236. 4

Question Number : 9 Question Id : 9209067395 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tl | & 91y g 11 e S

gl &l i
BICH 35 Ay
(A) BR () vEeE
B) of () By
() P () GRIEg
(D) D (V) e

19 fau v faeedi § 9 9E 3 &1 994 Sifee

(1) (A=), (B)-(V), (Q-(11), (D)-()
(2) (A=), (B)-(111), (C)-(1), (D)-(N)
(3) (A, (B)-(I), (C)-(), (D)-(IV)
(4)  (A)-(), (B)-(1), (C)-(), (D)-(IV)

Options :

92090629233. 1
92090629234. 2
92090629235. 3
92090629236. 4

Question Number : 10 Question Id : 9209067396 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R P ASYSY Ped o dred | g

(1)  =oEg (2) eIy
3) @ 4 B
Options :

92090629237. 1
92090629238. 2
92090629239. 3
92090629240. 4

Question Number : 10 Question Id : 9209067396 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



0 B ASYY Ped o i | g 2

(1) Gy (2) WEYsY
3) @ 4 B
Options :

92090629237. 1
92090629238. 2
92090629239. 3
92090629240. 4

Question Number : 11 Question Id : 9209067397 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

iR sarer R fAdw &1 e et ufy @) 159 aiftfe sore &t g ¥ 3 e & 7 10,350 =
3t g1 a3t iy e Fifs

(1 T 22,800 (2) ¥ 23,000
(3) T 24,000 (4) T 24,500
Options :

92090629241. 1
92090629242. 2
92090629243. 3
92090629244. 4

Question Number : 11 Question Id : 9209067397 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e sarer o fAd B e e 9 uv 159 arftfe sare 1 g3 ¥ 3 9N 7 7 10,350 SO
3rran g | Faw &t g afd yra S

(1) T 22,800 (2) ¥ 23,000
(3) ¥ 24,000 (4) ¥ 24,500
Options :

92090629241. 1
92090629242. 2
92090629243. 3
92090629244. 4



Question Number : 12 Question Id : 9209067398 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

30 cm TS0 919 4T 1 U 319 71T, 80 cm T aTd U daT6R U | STar 7| gfe o
TR 9 Y U F X1 & qUT S88 ST T4 Mol O3 a¥E S6 1 8, dl oid-%R a1 Sl
HRICIE

(1) 25 cm (2) 22.5cm
(3) 22 cm 4) 21.8cm
Options :

92090629245. 1
92090629246. 2
92090629247. 3
92090629248. 4

Question Number : 12 Question Id : 9209067398 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

30 cm g1 9TET YT 71 U 319 TIIET, 80 cm o419 dIdl Udh deHTbR UE § STar 7141 afe uE=
Hif8I® FU - § W § U1 9 STl T4 Tal O a¥E §9 1 €, ol Sd-%R fhaHr Gl
RIF

(1) 25 cm (2) 22.5cm
(3) 22 cm 4) 21.8cm
Options :

92090629245. 1
92090629246. 2
92090629247. 3
92090629248. 4

Question Number : 13 Question Id : 9209067399 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UL A T 42,000 Y b U6 AUR AR [&Ha1| 37 AEH 916 2 35,000 BT 9 FH
1 39S WY TS TS| S8 HelHl & ofd H d arH 231,570 4TI &Y H 41 &1 URT (2 H) &

(1) 12,400 (2) 12,628
(3) 12,825 (4) 12,980



Options :

92090629249. 1
92090629250. 2
92090629251. 3
92090629252. 4

Question Number : 13 Question Id : 9209067399 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U A 2 42,000 Y HXH TS AUR AR f6411 &1 HEH 18 2 35,000 BT Haw HIH
1 396 WY TS TS| SH HEHI & o T o oI £31,570 YT &H H 1 H1HAT @ ) &

(1) 12,400 (2) 12,628
(3) 12,825 (4) 12,980
Options :

92090629249. 1
92090629250. 2
92090629251. 3
92090629252. 4

Question Number : 14 Question Id : 9209067400 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

102 +7° 4243 = x* +5 H x &1 HHA Fd PIfew

(1 21 (2) 22
(3) 23 4) 24
Options :

92090629253. 1
92090629254. 2
92090629255. 3
92090629256. 4

Question Number : 14 Question Id : 9209067400 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



102 +7° +243° = x* +5 H x &AM FId Hifoiw

(1) 21 (2) 22
(3) 23 4 24
Options :

92090629253. 1
92090629254. 2
92090629255. 3
92090629256. 4

Question Number : 15 Question Id : 9209067401 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UF wfad Ufafe 9 9 ofRM @Rd gY 70 G # 1200 km T g a9 FXal 81 A 98 ufafe
10 ©¢ 3R &Y qYl 39 Ugd dreil 7id 9 1% T 7 8 99, 1 98 840 km 1 gl b
&= d qg sam

(1 39 (2) 33
(3) 35 4y 37
Options :

92090629257. 1
92090629258. 2
92090629259. 3
92090629260. 4

Question Number : 15 Question Id : 9209067401 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UF Jfad Ufafed 9 92 ofRM @Rd gY 70 3 #1200 km 1 g3 99 FXal 81 S 98 ufafe
10 ©¢ SR &Y qYl 39 Ugd dieil 7id 9 1% T 71fd ¥ 9, o1 98 840 km 1 gl fbad
feA A ag som

(1 39 (2) 33
(3) 35 4) 37

Options :



92090629257. 1
92090629258. 2
92090629259. 3
92090629260. 4

Question Number : 16 Question Id : 9209067402 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U Mg GoY & SR SR $Hd gU A 7 $e1 39! Ubettal 15 58 G & e o1 fran 2
34 goN F1 3 & 1 frgar &2

(1) @l @) o
(3) Hbd (4) se-ga-dl
Options :

92090629261. 1
92090629262. 2
92090629263. 3
92090629264. 4

Question Number : 16 Question Id : 9209067402 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U Mg QoY @1 SR SR $Hd gU A 7 Fe1 39@! Udbertal IS 58 G & e o1 fran 2
39 I3y &1 a8 1 fegar &2

(1) <&l @) o
(3) IHbd (4) se-ga-dl
Options :

92090629261. 1
92090629262. 2
92090629263. 3
92090629264. 4

Question Number : 17 Question Id : 9209067403 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ued AP &1 9 U 99 & ¥4 H A8 ol € a9 3 fawg are waw #1 faufva faen 7 fbaa
fomg R &2

o o

(1) 2 (2) 4
(3) 5 4 6

Options :

92090629265. 1
92090629266. 2
92090629267. 3
92090629268. 4

Question Number : 17 Question Id : 9209067403 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ued AP &1 9 U 99 & ¥4 H A8 ol € a9 3 fawg are waw #1 faufva faen 7 fbaa
fomg R &2

o o

(1 2 (2) 4
(3) 5 4 6

Options :

92090629265. 1
92090629266. 2
92090629267. 3
92090629268. 4

Question Number : 18 Question Id : 9209067404 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

33T g & foru Ul fasey &1 99+ & -

A470:349::478:7

(1) 470 (2) 487

(3) 471 4) 474
Options :

92090629269. 1
92090629270. 2
92090629271. 3
92090629272. 4



Question Number : 18 Question Id : 9209067404 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3§Td ug & fere wal faseq &1 9091 ¢ -

470 :349:: 4787

(1) 470 (2) 487

(3) 471 (4) 474
Options :

92090629269. 1
92090629270. 2
92090629271. 3
92090629272. 4

Question Number : 19 Question Id : 9209067405 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HYF P Y Ud YayRON SRT Fgifdsd usii &1 3w < |

HUF gg die-d ¢ [ 9= & wpa H 5 ad &1 o1y T Ue oY
UdYRON  |: 39 g H 9= AP & Iugdd WR W Ugd g Bl & R e & fan
GRIESGIN

Il: 694 P Y F 918 Tod =1 &1 GG AT STl

(1)  Paa gdyron | aFiRa 8

(2) Faa gdyron | 1 siafifed @

(3) aFIHAFEoH O fafHRa s
(4) AN SRAE 1 faFRa 8

Options :

92090629273. 1
92090629274. 2
92090629275. 3
92090629276. 4

Question Number : 19 Question Id : 9209067405 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HY BT ST Ud YayRUN SURT FAgifed welf &1 3w & |

HUY gg 9ie-d ¢ [ 9= &1 a1 5 a4 31 oy o US S|
TdYROT  |: 39 g H g A & Iugad WX W Ugd g& Bl & 3R drEd & fae
GRIRSEHGI

Il: 694 P Y F d18 Tod =1 & GG ] Bl

(1)  Paq ydyRon | fafiRd @

(2) aq gduron | 1 iR

(3) CTHIAAPE TS T faHRdE
(4)  AdSIRAE N SfaffRa g

Options :

92090629273. 1
92090629274. 2
92090629275. 3
92090629276. 4

Question Number : 20 Question Id : 9209067406 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

faar 10 faardier ST @ 3R, 981 ¥ 6 faidies fém 3t SR, oy a8 3 feanficl e
&1 3R Fad! 81 v AR fawg & deul §f ag fasa-it gt uv afi favw femm o &2

(1) 10 & I ufgm 2) 6 ot gfgm afgm
3) 5 fe. gféo ufim @ sfed T oEe
Options :

92090629277. 1
92090629278. 2
92090629279. 3
92090629280. 4

Question Number : 20 Question Id : 9209067406 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fdar 10 fediey I 1 3R, 981 ¥ 6 fheiiex <fém $t ¢k, Ty 9g 3 fedandiey e
&1 3R Tl ¢ AT RS fog & Ye & a8 fra i g ol frm fam i &2

(1) 10 & 3w ufdm 2) 6 ot gfém afgm
3) 5 e sféo ofig @ s5fFd ITmye
Options :

92090629277. 1
92090629278. 2
92090629279. 3
92090629280. 4

Question Number : 21 Question Id : 9209067407 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl | & 91y &1 &1 T S

G-I Tt -
(A) SfisRfeay () g8 IS
(8) SMSEmH () Sl Heftra ofrsfe wrE
€) SffafRudear any i@y &g &1 stea
(D) SHReHIamsI (IV) &d &I g 3R fagH

1= fau 7o faeedi § 9 Wel I &1 944 ST

(1) A=), (B)-(1V), (Q)-(1), (D)-(I1D)
(2) (A=), (B)-(1V), (C)-(1), (D)-(I)
(3)  (A)-(V), (B)-(11), (C)-(1), (D)-(IID)
(4) (A, (B)-(IV), (C)-(ll1), (D)-(D)

Options :

92090629281. 1
92090629282. 2
92090629283. 3
92090629284. 4

Question Number : 21 Question Id : 9209067407 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



! | Ty Gl 11 HaE Difor:

gl Tt -
(a) Sfierfean ()  gEfd IUSr
(B) SiTSICRITH! () ol | Heiftra ofmafi wrE
(€) SHaRUFHwER SR (&FE &1 sieaTH
(D) SiEemarct (V) Zd &1 Jegge ok fage

412 fau v fasedi & 9§ Wl IR &1 994 ST

(1) (A=), (B)-(IV), (C)-(1), (D)-(I)
(2) (M-, (B)-(1v), (C)-(1), (D)-(In)
(3)  (A)-(V), (B)-(IN), (C)-(1), (D)-(IID)
(4) (A=), (B)-(IV), (Q)-(ll1), (D)-(1)

Options :

92090629281. 1
92090629282. 2
92090629283. 3
92090629284. 4

Question Number : 22 Question Id : 9209067408 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@ U gIEg I Ud Ul it (LPG) & T U §?

(1) &ad g (2) I R s
(3)  WITH 3R & (4) WA 3R &g
Options :

92090629285. 1
92090629286. 2
92090629287. 3
92090629288. 4

Question Number : 22 Question Id : 9209067408 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



& U gIEg I U Ul it (LPG) & T U g2

(1)  &ad fAaga 2) s s
(3) WO 3R & (4) WA 3R ged
Options :

92090629285. 1
92090629286. 2
92090629287. 3
92090629288. 4

Question Number : 23 Question Id : 9209067409 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TE YT
A e ® g3 &4 aran uyH fd UsdE g1Ee 8
B. dGHITR WG HI Vol arel UYH ¢ 4 UY
C.  3r=Ife ® S-Eren YyH HRdY Iy IEf
D. WA uary # T ofikfaey # o aren yyw S = 21
- few e el & & udt I &1 99 Fifer

(1) %ad A3fRB

(2) ad A B3RC

(3) &Fad B3RD

(4) &g BIAHRC
Options :

92090629289. 1
92090629290. 2
92090629291. 3
92090629292. 4

Question Number : 23 Question Id : 9209067409 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TE PUE

A Sffver B gdw & aren Uyl safdd Usad @ge 8|
B. dGHIWR UHd $I W are Uy & 1UH.Y

C.  3r=Ife ® S-Ere YYH HRAY Iy IEf

D. WuA uary # T ofikfaey # o aren uyH S HH 21
- few e feredt & & udt IR &1 99 Fifone

(1) ad A3fREB

(2) &ad A B3RC

(3) Fad BAHRD

(4) FEd BAHRC
Options :

92090629289. 1
92090629290. 2
92090629291. 3
92090629292. 4

Question Number : 24 Question Id : 9209067410 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S 91 9 Y&Ia: MNP ey H et 3991 82

(1) Yodq (2) WHdg
3) 3ydde (4) HAg
Options :

92090629293. 1
92090629294. 2
92090629295. 3
92090629296. 4

Question Number : 24 Question Id : 9209067410 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



S 91 9% Y&Ia: AMHA ey H Hideis 3991 82

(1) T9dg (2) UmdE
3) 3Ydag 4) g
Options :

92090629293. 1
92090629294. 2
92090629295. 3
92090629296. 4

Question Number : 25 Question Id : 9209067411 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
#2 g pyA fRum §:
Y| ;. HRY SauE § Ted AMREdr &1 [dar e dfau 9 sirfier G i gl

U II:  HRAY HAUH & g 51 A F ded ayd Saor’ Wid & dlayE I sifier
T B

JURIR HYF & 3fdier |, i feU 17U fabel # I e Iugd I &1 99 Sifere

(1) YT 3R 1 SFT el 8
(2) HYF AR I EH TAd 8
(3) HYA I FE B, AlbT YA 11 Tl &
(4) &YF | TEd 8, A HYF || Tel &

Options :

92090629297. 1
92090629298. 2
92090629299. 3
92090629300. 4

Question Number : 25 Question Id : 9209067411 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



CIERARZIC AT IS

FYT| :  HRAW HfayE ¥ ved Amiiear &1 faar fafew dfaum O sifter fear m g
U Il :  HRAY HAYH & g8 51 A & ded ‘Hayd Sasr Wid & JfayE ¥ sifier

o g

IR Y & 3fdid |, i AU 17U fahed! # I el Iuga I &1 99 Difere

(1)  @YF ISR 1| SFT el 8
(2) @Y SR | EF TEd 8

(3) Y| 98l B, Wb HYA 11 TTAd &
(4) Y| 7T 8, Afced FYA 11 98l ©

Options :

92090629297. 1
92090629298. 2
92090629299. 3
92090629300. 4

Part B: Political Science

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and Clear

Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section 1d :

Question Shuffling Allowed :
Is Section Default? :

920906148
2

Online
Mandatory
75

75

300

Yes

0

1
920906236
Yes

null

Question Number : 26 Question Id : 9209067412 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1



Which among the following is not a part of the central theme of green ideology?
1. Holism
2. From being to having
3.  Ecology

4.  Sustainability

Options :

92090629301. 1
92090629302. 2
92090629303. 3
92090629304. 4

Question Number : 26 Question Id : 9209067412 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafufaa # @ S e fAERyYRT &1 U i gl 82

(1) THYAG (SlereH)
(2) 3% Qo= d@ (pren T afdm)
(3) uRfRufdst
(4)  HYRUHE
Options :

92090629301. 1
92090629302. 2
92090629303. 3
92090629304. 4

Question Number : 27 Question Id : 9209067413 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which among the following is not a principle of Utilitarianism’?
1.  Greatest good of the greatest number
2. Government is a necessary evil
3. State is a natural necessity
4. Maximum happiness of maximum number

Options :

92090629305. 1
92090629306. 2
92090629307. 3
92090629308. 4

Question Number : 27 Question Id : 9209067413 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafdiied # @ i IudifiamErs 1 ue Rgid 78 82

(1) oifiEad anT &1 offteay fdd (2) WBR TH AJEAS R*s &
(3) 9 U fT® Saxgdal o (4) SMEHan arll & iftidmad wdl

Options :

92090629305. 1
92090629306. 2
92090629307. 3
92090629308. 4

Question Number : 28 Question Id : 9209067414 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



An example of direct democracy is
1.  Social-Communist style
2.  Anglo-American type
3.  Athenian type

4. Egyptian type

Options :

92090629309. 1
92090629310. 2
92090629311. 3
92090629312. 4

Question Number : 28 Question Id : 9209067414 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U @bad &1 U JaleUl &l 52

(1)  HHISS — raaE] aliel (FEd)
(2)  3{7Td — HANHI UPR
(3) U UPR (UARREE eEn)
4) il yoR @fSieneE esn)
Options :
92090629309. 1
92090629310. 2

92090629311. 3
92090629312. 4

Question Number : 29 Question Id : 9209067415 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Guild Socialist theory
1. Advocates industrial democracy
2.  Advocates territorial democracy
3.  Advocates community of feeling based on economic interests

4.  Protects individual from tyranny

Options :

92090629313. 1
92090629314. 2
92090629315. 3
92090629316. 4

Question Number : 29 Question Id : 9209067415 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e rreare] gl et IRIGN &dl 67

(1) 3N dieda

(2) &g e died

(3)  onfde fed ur smenfia GHeE™ &1 WiaA
(4) SRR ¥ HfddTd e

Options :

92090629313. 1
92090629314. 2
92090629315. 3
92090629316. 4

Question Number : 30 Question Id : 9209067416 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which among the following was a magazine started by Mahatma Gandhi in South
Africa?

1.  Young India
2.  Harijan
3. Indian Opinion

4.  Hind Swaraj

Options :

92090629317. 1
92090629318. 2
92090629319. 3
92090629320. 4

Question Number : 30 Question Id : 9209067416 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HeTdH1 Tl 3 <féur smpiee & Fafaiaa d 9 69 ufEe &1 R g un

(1)  dmsfEar (2) BRHA
(3) sfega sifufAga @) fee S
Options :

92090629317. 1
92090629318. 2
92090629319. 3
92090629320. 4

Question Number : 31 Question Id : 9209067417 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which two among the following did B. R. Ambedkar identify as critics of social
reform in India?

1.  Radicals and Anarchists

2. Anarchists and Socialists

3. Political Reformers and Socialists
4. Political Reformers and Anarchists

Options :

92090629321. 1
92090629322. 2
92090629323. 3
92090629324. 4

Question Number : 31 Question Id : 9209067417 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dl. oM. srdEH A Fufiied A 9 57 3 & YRd 8 Imifee guR & JeEs] & €9 3§
ggaH &t di?

(1)  3myd uRad=ard 3R SRS arard!
(2)  SRISHAEIg! 3R GHISAIG]

(3) SIS GURS 3R GHER]

(4) VSIS YURS 3R SRSGArard]

Options :

92090629321. 1
92090629322. 2
92090629323. 3
92090629324. 4

Question Number : 32 Question Id : 9209067418 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following regional parties does not have a regional-ethnic
character?

1. TDP in Andhra Pradesh
2. AGP in Assam
3. AIADMK in Tamil Nadu

4. AAP in Delhi
Options :
92090629325. 1
92090629326. 2
92090629327. 3
92090629328. 4

Question Number : 32 Question Id : 9209067418 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafeiea 7 @ frw veifaes urdl @ aEtg-werdiy siitee 781 82

(1) Sy e # A8 (2) SEHHTE.
(3) dfEArg § Uers Sl @) fooel H 3y (AAP)
Options :

92090629325. 1
92090629326. 2
92090629327. 3
92090629328. 4

Question Number : 33 Question Id : 9209067419 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is not an official actor of public policy?
1. Political parties
2. Judiciary
3.  Administrators
4. Executive

Options :

92090629329. 1
92090629330. 2
92090629331. 3
92090629332. 4

Question Number : 33 Question Id : 9209067419 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafafag o 4 o gde® Hifd &1 snfisRe Fal (SbREd tae) 96l 87

(1)  AeHITae grefai (2) =graurfereT
(3) UIEEH (4) HRUTeTeT
Options :

92090629329. 1
92090629330. 2
92090629331. 3
92090629332. 4

Question Number : 34 Question Id : 9209067420 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who among the following scholars described the shift from an interventionist to
a regulatory State in India?

1. Partha Chatterjee
2. Rajni Kothari
3. Lloyd Rudolph and Susanne Rudolph

4. John Harriss

Options :

92090629333. 1
92090629334. 2
92090629335. 3
92090629336. 4

Question Number : 34 Question Id : 9209067420 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fofaied o 9 9 9 3 YR ¥ o8 sauaR] ¥ U Fams T aF & uiadd &
guiF e 82

(1) ges (2) oA BIBRI
(3) TIHS Felah R U Ealeh @) oA gRd

Options :

92090629333. 1
92090629334. 2
92090629335. 3
92090629336. 4

Question Number : 35 Question Id : 9209067421 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The International Court of Justice is located at
1. New York
2. (Geneva
3. The Hague

4. Brussels

Options :

92090629337. 1
92090629338. 2
92090629339. 3
92090629340. 4

Question Number : 35 Question Id : 9209067421 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SRIPTY =raTey Hel Sfafeyd g7

(1) =gid (2) Sa
(3) Ten @) s
Options :

92090629337. 1
92090629338. 2
92090629339. 3
92090629340. 4

Question Number : 36 Question Id : 9209067422 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The term of the Lok Sabha was extended to six years by which of the following
amendment?

1.  41st Constitutional Amendment Act
2. 42nd Constitutional Amendment Act
3.  43rd Constitutional Amendment Act

4. 44th Constitutional Amendment Act

Options :

92090629341. 1
92090629342. 2
92090629343. 3
92090629344. 4

Question Number : 36 Question Id : 9209067422 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FofalEad # O (59 92y & gRI 69 1 FAPIT &8 I8 dP derdl 1 Y12

(1) 41 didfae= SeneA (2) 42 i dfdur w2
(3) 43 gi Gfaemr S (4) 44 9 Gy 2=
Options :

92090629341. 1
92090629342. 2
92090629343. 3
92090629344. 4

Question Number : 37 Question Id : 9209067423 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



When the President of India addresses a joint session of the Parliament, who
presides over the session?

1. Speaker of the Lok Sabha

2. Deputy Speaker of the Lok Sabha
3. Chairman of the Rajya Sabha

4. No one presides over the session

Options :

92090629345. 1
92090629346. 2
92090629347. 3
92090629348. 4

Question Number : 37 Question Id : 9209067423 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

od URd & WUE & Ygad AHAYH B Gt HIa)/Hd € O B 39 SEEYH $i
SR Bl 67

(1) Tl T BT g
(2)  TIHAH B IUTeHe
(3) ST T T e
@) @3 W 39 UEYE BT Sremerdl Te] Hidl 8

Options :

92090629345. 1
92090629346. 2
92090629347. 3
92090629348. 4

Question Number : 38 Question Id : 9209067424 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following taxes does not come under the Union List?
1.  Corporation tax
2.  Capitation tax
3. Taxes on income other than agricultural income

4. Taxes on the capital of companies

Options :

92090629349. 1
92090629350. 2
92090629351. 3
92090629352. 4

Question Number : 38 Question Id : 9209067424 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frofafEa 7 8 #1991 2 99 gl & siarfd Tl s g2

(1) R (@RURYE &) (2) WU eafed & (P o)
(3) DPHATD SIS IR NG A WHT (4) FUHTl B Yol W IR

Options :

92090629349. 1
92090629350. 2
92090629351. 3
92090629352. 4

Question Number : 39 Question Id : 9209067425 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In the history of Parliament of India, how many times the parliamentary
proceedings were censured?

1.  Never

2. Once

3.  Twice

4.  Thrice
Options :

92090629353. 1
92090629354. 2
92090629355. 3
92090629356. 4

Question Number : 39 Question Id : 9209067425 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HRAY ¢ & sfaer # 99cia siaredl &1 fea-t IR 9 fear man

(1) el (2) UHER
(3) <TIER 4) dHFErR
Options :

92090629353. 1
92090629354. 2
92090629355. 3
92090629356. 4

Question Number : 40 Question Id : 9209067426 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The first delimitation was carried out under whose office?
1.  Prime Minister
2. President
3.  Union Minister of Law

4.  Chief Justice

Options :

92090629357. 1
92090629358. 2
92090629359. 3
92090629360. 4

Question Number : 40 Question Id : 9209067426 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

uyH gfRiiaA fas ug (3HTTpa) & Siavid fdean man
(1) U HEHl (2) pufd

(3)  harg fafe w5 4) = =i
Options :

92090629357. 1
92090629358. 2
92090629359. 3
92090629360. 4

Question Number : 41 Question Id : 9209067427 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The book authored by John Rawls on justice in international relations is
1. A Theory of Justice
2.  Political Liberalism
3.  Social Justice in a Liberal State

4. The Law of Peoples

Options :

92090629361. 1
92090629362. 2
92090629363. 3
92090629364. 4

Question Number : 41 Question Id : 9209067427 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WEed 3 SeAeFd RAE 1R o 9F Id &1 Qo [hu an o 82
(1) A g (2) IS IGRAE
(3) UP IR I grHi® g (4) e fafe

Options :

92090629361. 1
92090629362. 2
92090629363. 3
92090629364. 4

Question Number : 42 Question Id : 9209067428 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



According to Plato's theory of men and metals, the rulers have

1. silver

2. bronze

3. gold

4. iron
Options :

92090629365. 1
92090629366. 2
92090629367. 3
92090629368. 4

Question Number : 42 Question Id : 9209067428 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Wl ¥ afed ud g & FEid & SFUR IS & U a9 8T 82

(1)  =idl (2) T (S
3) @@ (4) e
Options :

92090629365. 1
92090629366. 2
92090629367. 3
92090629368. 4

Question Number : 43 Question Id : 9209067429 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which among the following is not Marx’s Laws of Dialectics?
1.  Negation of negation
2. Increase in quality leads to quantitative change

3 Increase In quantity leads to qualitative change

4. Unity and struggle of opposites



Options :

92090629369. 1
92090629370. 2
92090629371. 3
92090629372. 4

Question Number : 43 Question Id : 9209067429 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FafiRad § 9 o1 91 7id &1 §5IdS a1 P Saalcad Fran 8l 82

(1)  Fmy s Fuy
(2)  TUrE H 9l e YRdadH &1 Al URRd i
(3)  HEH Sl UIE TR URdaH BT AR TR Sl o
(4)  wiquigi o1 vedr 3R Hud

Options :

92090629369. 1

92090629370. 2

92090629371. 3
92090629372. 4

Question Number : 44 Question Id : 9209067430 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who said the following?

“Can you have economic reform without first bringing about a reform of the
social order?”

1. B. R. Ambedkar
2. Jyotiba Phule
3.  Pandita Ramabai

4. M. K. Gandhi

Options :

92090629373. 1
92090629374. 2
92090629375. 3
92090629376. 4



Question Number : 44 Question Id : 9209067430 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

{9 Tg HE1 o1 &1 1Y Ugd ArHTfors gyl § YR e faA1 ofie urR &% 9% g7

(1) dL3R FEsHY (2) Hifder pad
(3) UfgarwEs (4) TAP. T
Options :

92090629373. 1
92090629374. 2
92090629375. 3
92090629376. 4

Question Number : 45 Question Id : 9209067431 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Thomas Hobbes defined sovereignty as
1. the power of the people to question the king
2. the right of the citizen to elect governments
3. the monopoly of coercive power of singular ruler
4.  the duty of the ruler to serve people

Options :

92090629377. 1
92090629378. 2
92090629379. 3
92090629380. 4

Question Number : 45 Question Id : 9209067431 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



JTHY Bled 7 TR &1 fog ¥a § ufyifer faar ur

(1) ST Uy S B A0 D1 2fad

(20 WBRI I g1 BT ANNG 61 PR

(3) UHd US & 90-TaN (GIR-SaRew) &1 Uid &1 taiieR
(4) I P AN B Tl BT Hasd

Options :

92090629377. 1
92090629378. 2
92090629379. 3
92090629380. 4

Question Number : 46 Question Id : 9209067432 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Equality of opportunity means
1. everybody is equal before law
2. an equal opportunity to become unequal
3. everybody has equal opportunity

4. everybody has equal talents and skills

Options :

92090629381. 1
92090629382. 2
92090629383. 3
92090629384. 4

Question Number : 46 Question Id : 9209067432 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3EYR &1 AT &1 37 31 g2

(1) &S gne yde sfdd 9WH §
(2)  SHUE g & e A S{TwR
(3) Ul Al B FHF W UK §
(4) Ud® sdiad H GHE UfaHl (@de) iR SIYa &

Options :

92090629381. 1
92090629382. 2
92090629383. 3
92090629384. 4

Question Number : 47 Question Id : 9209067433 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The idea of hegemony is a key concept in the writings of
1. Francis Fukuyama
2. Antonio Gramsci
3.  Eric Hobsbawm
4. Alexandra Kollontai

Options :

92090629385. 1
92090629386. 2
92090629387. 3
92090629388. 4

Question Number : 47 Question Id : 9209067433 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



faes o § ST &1 fIaR U TReT S{auRul 82

(1) Wil g (2) wers umi
(3) UR® giEH (4) Uddsisy dards
Options :

92090629385. 1
92090629386. 2
92090629387. 3
92090629388. 4

Question Number : 48 Question Id : 9209067434 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who propounded the doctrine of ‘iron law of oligarchy'?
1. C.B. Macpherson
2. V. Pareto
3. R. Michels

4. J. Schumpeter

Options :

92090629389. 1
92090629390. 2
92090629391. 3
92090629392. 4

Question Number : 48 Question Id : 9209067434 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFua 3@ 93 & wiig fFraw &1 ufqureA e ure

(1) .4 AewdE 2 L Ra
(3) SR HEZHE (4) OYFIER
Options :

92090629389. 1



92090629390. 2
92090629391. 3
92090629392. 4

Question Number : 49 Question Id : 9209067435 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The steep decline in population due to underinvestments in healthcare and
education known as 'demographic disaster refers to

1.  Norway
2. Central Asian States
3. Germany

4. Russia

Options :

92090629393. 1
92090629394. 2
92090629395. 3
92090629396. 4

Question Number : 49 Question Id : 9209067435 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WY P S@HE R Wen # u-FEw & &R oa9e § siys fiREe &)
SFgifeTe g fquel (SHmitss fEure? ) & am I W 91 o1ar 8, o feue! deiid &Xar 87

(1) 4@ (2) A U I
(3) WHAT @) =9
Options :

92090629393. 1
92090629394. 2
92090629395. 3
92090629396. 4

Question Number : 50 Question Id : 9209067436 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Which among the following is not a form of authoritarian rule?
1.  Absolute monarchy
2. Military rule
3. Theocracy

4. Direct democracy

Options :

92090629397. 1
92090629398. 2
92090629399. 3
92090629400. 4

Question Number : 50 Question Id : 9209067436 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafefed & & S 91 amErd URE $1 06 F4 T 82

(1) FpgIEdd 2 FE IR
(3)  waE (sisEh (4) UTY dddd
Options :

92090629397. 1
92090629398. 2
92090629399. 3
92090629400. 4

Question Number : 51 Question Id : 9209067437 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who amongst these developed the ‘garbage can model’ of policy-making?
1.  Yehezkel Dror
2. James Anderson
3.  Frederick Taylor

4.  Michael Cohen

Options :

92090629401. 1
92090629402. 2
92090629403. 3
92090629404. 4

Question Number : 51 Question Id : 9209067437 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafafEa 7 9 feaa Hifa Fuin & R &1 wisa @ el fear un

(1) TUgohd SR (2) S TS
3) Theled TR (4) WP Pled
Options :

92090629401. 1
92090629402. 2
92090629403. 3
92090629404. 4

Question Number : 52 Question Id : 9209067438 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The power of the Supreme Court of India to decide disputes between the Centre
and the State falls under its

1. Advisory jurisdiction
2.  Appellate jurisdiction
3.  Original jurisdiction

4. Writ jurisdiction

Options :

92090629405. 1
92090629406. 2
92090629407. 3
92090629408. 4

Question Number : 52 Question Id : 9209067438 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁ?@ﬁ%ﬁﬂﬁﬁﬁ%ﬁﬁ%ﬁ&ﬁwwaﬁmﬁﬂmmm
?

(1) FdlgdRI AU GREfsRMA)
(2) iy sffeRar

(3) RS B

4) e sidefe

Options :

92090629405. 1
92090629406. 2
92090629407. 3
92090629408. 4

Question Number : 53 Question Id : 9209067439 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which one of the following does not find mention in the Preamble to the Indian
Constitution?

1. Dignity of the individual
2. Dignity of the Constitution
3.  Fraternity

4. Unity and integrity of the nation

Options :

92090629409. 1
92090629410. 2
92090629411. 3
92090629412. 4

Question Number : 53 Question Id : 9209067439 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R dfde #1 I meaen) § Fafiiaa § feae I ) v T 82

(1) oafda &1 R (2) EfayE &1 i
(3) WYyl (4) XY DI THdl 3R SRGSAl
Options :

92090629409. 1
92090629410. 2
92090629411. 3
92090629412. 4

Question Number : 54 Question Id : 9209067440 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which one of the following is the largest committee of the Parliament?
1. The Committee on Public Accounts
2. The Committee on Estimates
3. The Committee on Public Undertakings

4.  The Committee on Petitions

Options :

92090629413. 1
92090629414. 2
92090629415. 3
92090629416. 4

Question Number : 54 Question Id : 9209067440 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T4e @ Ffaled § 9 oF 9 9ed 93t gfifd

(1) i o gifa (2) Widha- St
(3) @i Uy FiHfd (4) TIfrep] §iAd
Options :

92090629413. 1
92090629414. 2
92090629415. 3
92090629416. 4

Question Number : 55 Question Id : 9209067441 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The first ASEAN summit was held in which city/country?
1. Bali (Indonesia)
2.  Manila (Philippines)
3. Singapore

4. Kuala Lumpur (Malaysia)
Options :
92090629417. 1
92090629418. 2
92090629419. 3
92090629420. 4

Question Number : 55 Question Id : 9209067441 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

for <r8R/aT # UyH 1T fRRER e Sl gai o

(1) =l Gs R (2) A (e
(3) RmgR (4) IATCHYR (HaRE)
Options :

92090629417. 1
92090629418. 2
92090629419. 3
92090629420. 4

Question Number : 56 Question Id : 9209067442 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The judges of the International Court of Justice are elected by the
1. General Assembly
2. Security Council
3. General Assembly and Security Council

4.  General Assembly, Security Council and the Trusteeship Council

Options :

92090629421. 1
92090629422. 2
92090629423. 3
92090629424. 4

Question Number : 56 Question Id : 9209067442 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

farees GRI SRIFTY ~arTerd & =ArTeei &1 91 Sl 87

(1)  HeraH

() WR&TURYg

(3)  HETHT SR Y& uiyg

(4) T, Y& uRug 3R TR 3R

Options :

92090629421. 1
92090629422. 2
92090629423. 3
92090629424. 4

Question Number : 57 Question Id : 9209067443 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The South Asian University jointly established by eight-SAARC member States
is at

1. New Delhi
2. Dhaka
3.  Kathmandu

4. Islamabad

Options :

92090629425. 1
92090629426. 2
92090629427. 3
92090629428. 4

Question Number : 57 Question Id : 9209067443 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A (CHUL AR F 316 o Il gRI el W GG ¥4 J 93y Ui gRaiidt #i
RTIAT DI 775 o7

(1) s faeed (2) BTl
(3) PIGHIG (4) STAHEG
Options :

92090629425. 1
92090629426. 2
92090629427. 3
92090629428. 4

Question Number : 58 Question Id : 9209067444 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which among the following is not associated with Cold War?
1.  Creation of Bizonia
2. Nationalization of Suez Canal
3.  Truman Doctrine of Containment

4. Marshall Plan

Options :

92090629429. 1
92090629430. 2
92090629431. 3
92090629432. 4

Question Number : 58 Question Id : 9209067444 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafaa # 8 ®19 2d gg 3 d&fia 78l 82

(1) fesifar e Fa (2) Gl g BT APBI
(3) UHE AP & o i Rigia (4) wrfa Ao

Options :

92090629429. 1
92090629430. 2
92090629431. 3
92090629432. 4

Question Number : 59 Question Id : 9209067445 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who among the following realist theorists considered that a basic feature of
international relations is the decentralized structure of anarchy between States?

1.  Hans J. Morgenthau
2. T. Schelling
3. Kenneth Waltz

4. J. Mearsheimer

Options :

92090629433. 1
92090629434. 2
92090629435. 3
92090629436. 4

Question Number : 59 Question Id : 9209067445 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafafad & @ few gurdard Rregraer 3 9F1 o1 & siqrifiy dey &1t ga A
U & o9 RIS & A id = g2

(1) &9 L AFEd 2) <1 Qfen
(3) &Y dTeed @) . fERfErR
Options :

92090629433. 1
92090629434. 2
92090629435. 3
92090629436. 4

Question Number : 60 Question Id : 9209067446 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Reformist ecology is also known as
1. Deep ecology
2.  Social ecology
3.  Humanist or shallow ecology

4. Land ethic

Options :

92090629437. 1
92090629438. 2
92090629439. 3
92090629440. 4

Question Number : 60 Question Id : 9209067446 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

GURare gyt B i o= A W S ST 82

(1) e gRfRufaet

(2) o uRfRufast

(3) HHEAE A HU ar W @an gt
4)  HA-AfdRe

Options :

92090629437. 1
92090629438. 2
92090629439. 3
92090629440. 4

Question Number : 61 Question Id : 9209067447 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The full form of NSSP, a pact between India and United States, stands for
1. Next Steps in Strategic Partnership
2.  National Security in Strategic Partnership
3.  Next Step in Security Programme
4.  Nuclear Suppliers Support Partnership

Options :

92090629441. 1
92090629442. 2
92090629443. 3
92090629444. 4

Question Number : 61 Question Id : 9209067447 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR 3R ARSI & 9 U GHd UTH.0H 00U T R 1 31 82

(1) AR ®U 37 Lelold Ui-RIR™

2) a3 wefos urd-RRm
(3) A ¥Y 3 Rt v

@)  giFaR TR guie ureAaRiem

Options :

92090629441. 1
92090629442. 2
92090629443. 3
92090629444. 4

Question Number : 62 Question Id : 9209067448 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Justice as requital refers to
1. unequal exchange
2. dependent exchange
3.  equality of opportunity
4. fair exchange

Options :

92090629445. 1
92090629446. 2
92090629447. 3
92090629448. 4

Question Number : 62 Question Id : 9209067448 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ufded & ©U H A [Fas! defilfd a2

(1)  SRHF 3TEH - e (Tads) (2) ST EH-UgH
(3)  SEER Bl GHFC 4) 9UEd sMeME-uaH
Options :

92090629445. 1
92090629446. 2
92090629447. 3
92090629448. 4

Question Number : 63 Question Id : 9209067449 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which among the following is a book by Machiavelli?
1. Discourses
2. Discourse on the Sciences and Arts
3. Discourse on the Qrigin and the Foundation of Inequality Among Men

4. Letter Concerning Toleration

Options :

92090629449. 1
92090629450. 2
92090629451. 3
92090629452. 4

Question Number : 63 Question Id : 9209067449 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafead 7 ¥ Afegdd &1 19 9 gias g2

(1) fEusrds

(2) fEuer ¥9 o 9y tsandy

3) feusd 3ifF g e U8 BIESYH 3% sAssiae] 3F 54
(4) TR S ST

Options :

92090629449. 1
92090629450. 2
92090629451. 3
92090629452. 4

Question Number : 64 Question Id : 9209067450 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Who among the following scholars presented Hobbes' ‘State of Nature' as a
society of self-interested competitive individualism?

1. Quentin Skinner
2. Charles Taylor
3. C.B. Macpherson

4. Harold J. Laski

Options :

92090629453. 1
92090629454. 2
92090629455. 3
92090629456. 4

Question Number : 64 Question Id : 9209067450 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Profered 7 4 5 fRgE 3 gfsn 91 ush &1 e @< ot FR) &1 @reff virayfas
SfekiaTg & Ueh THIS & U H Uk fopu ur

(1) SHRAWR 2) e TR
3) & Aewda 4) RIS O ARG
Options :

92090629453. 1
92090629454. 2
92090629455. 3
92090629456. 4

Question Number : 65 Question Id : 9209067451 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In which of Aristotle’s works, it is stated that the highest good for human beings
is happiness, attained through moral and intellectual virtue?

1. Politics
2. Metaphysics
3. Eudemian ethics

4. Nicomachean ethics

Options :

92090629457. 1
92090629458. 2
92090629459. 3
92090629460. 4

Question Number : 65 Question Id : 9209067451 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 B forg 3fa 7 ug de1 a1 € 6 wwil & few S=an fed s Sik fg®s woqur &
HIEH ¥ U S T8 U9Hal o7

(1)  difeieadd (2) Helfbfoay
(3) USfiEE 3fiey @) P siueg
Options :

92090629457. 1
92090629458. 2
92090629459. 3
92090629460. 4

Question Number : 66 Question Id : 9209067452 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : G. Sartori has presented a comprehensive analysis of multi-
party system.
Reason(R) : Sartori classified political parties in four types—caucus,

branch, cell and militia.

In the light of the above statements, choose the most appropriate answer from
the options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is not the correct explanation of

3. (A)is correct but (R) is not correct

4. (A)is not correct but (R) is correct

Options :

92090629461. 1
92090629462. 2
92090629463. 3
92090629464. 4

Question Number : 66 Question Id : 9209067452 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



19 21 $y U U § UF SHfHFHUA (Assertion A) B ¥ H foifad & o g1 39S HRU
(Reason R}%F‘I if;

JfHHYA A : Ol W A dgadiy usfd #1 e suge favavur Ugd i |

PRUR : el A TeFfae gdl F1 IR USRI — WHET T2 ( Sle), IRl (§d), U618
(@) SR AT 941 (fef2mm o avffed e |

IURIT Y & 3fdld |, 1 [JU T fasedl 7 § Yad Iugad I &1 999 Hiferw

(1) ASIRRIAITEIE SRR AT TSI ARBN B

(2) ASRREF Gl g, dfd R, A B U ARSI el @
(3) AWHE AFTRAUS AT

(4) AW RIS, ARPTR TG €

Options :

92090629461. 1
92090629462. 2
92090629463. 3
92090629464. 4

Question Number : 67 Question Id : 9209067453 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : According to Plato, “the State is individual writ large”.
Reason (R) : The virtues found in an individual are found in larger form in
the State.

In the light of the above statements, choose the most appropriate answer from
the options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is not the correct explanation of

3. (A)is correct but (R) is not correct

4. (A)is not correct but (R) is correct



Options :

92090629465. 1
92090629466. 2
92090629467. 3
92090629468. 4

Question Number : 67 Question Id : 9209067453 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

#1a &1 By f3U U § TP SHUSYA (Assertion A) B EU  H fafEd g @ U0 39D BR
(Reason R) F¥Y H:

HAUPYT A : Wl & SFER ‘A Afdd H1 fave WEa 5" |

HRUIR : Ush fdd H U 719 aTel ¥eT[ul Il O i 98 U T U eld & |
IR HYF & 3fidid H, 9 QU 17U fahedl § 9 e I9ge IR &1 99 Difelw

(1)  ASJRRIH GBI € SRR A DI UE T &

(2) ASIRREH W g AfF R A B Uel R T8l &
3) ATHE APTIRIT TR

(4) AU TEIE ABTRAS®

L

Options :

92090629465. 1
92090629466. 2
92090629467. 3
92090629468. 4

Question Number : 68 Question Id : 9209067454 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : Gandhi supported Panchayati Raj Institutions for a better

administration.

Reason (R) : Ambedkar condemned the panchayats as a repressive and

oppressive institution.

In the light of the above statements, choose the most appropriate answer from
the options given below :

1.

2.

3.

4.

Both (A) and (R) are correct and (R) is the correct explanation of (A)

Both (A) and (R) are correct but (R) is not the correct explanation of

(A)
(A) is correct but (R) is not correct

(A) is not correct but (R) is correct

Options :

92090629469. 1
92090629470. 2
92090629471. 3
92090629472. 4

Question Number : 68 Question Id : 9209067454 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fia €1 FYF AU U § U SHHFHUA (Assertion A) T FY  H ffed 2 o TR 39S R
(Reason R) & ¥Y H;

MHFYT A - TR A U dgoR U & o vt T SRarsit &1 gudE fear |
HRUIR : ESH A TP IASABN] 3R SHIPR] HRT & w9 § damdl @ Far &

o |

SURIE HYA & 3idle |, g RU T fasedl #§ ¥ 998 Iuged IR &1 944 Hif

(1)
(2)
(3)
(4)

A 3R R T U8 & IR R, A F1 W&l Ar= &

A 3R R 3FI T8l €, Afd R, A T 98! eI 8l &
A e 8, A R Gl AT ®

ATEI TR E AfFTrud B



Options :

92090629469. 1
92090629470. 2
92090629471. 3
92090629472. 4

Question Number : 69 Question Id : 9209067455 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : Robert Nozick illustrated negative liberty in his writings.

Reason (R) : According to Robert Nozick, the primary threat to liberty is the
imposition of obligation to which one has not consented.

In the light of the above statements, choose the most appropriate answer from
the options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is not the correct explanation of
(A)

3. (A)is correct but (R) is not correct

4.  (A)is not correct but (R) is correct

Options :

92090629473. 1
92090629474. 2
92090629475. 3
92090629476. 4

Question Number : 69 Question Id : 9209067455 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



#1a g1 $u fou MU § T SifUPHUA (Assertion A) F U H fRad & ol g1 39D DRUI
(Reason R) B ®Y #:

HUBYA A :  Jde AP 3 304 oG | ABRIeS Wadl &l Wy faear |

HRUIR : ad Jifoie & AR WoFdl B WUHS Tar1 39 i &1 Ao ¢, g
&R 7 fbdt A wewia 1 7E1 2 |

JUE HY & 3fTdie H, A iU 10 fadedl #§ 9 998 Iugad 3Tk &1 994 IS

(1) ASRRIATTEIE IR R A P Uel RS 8

(2) A SIRRGH 8l 8, Al R, A D] Hel AR T8l &
(3) AWRIE APTRUS TSR

(4) AHEITEIE AfPTREEE

Options :

92090629473. 1
92090629474. 2
92090629475. 3
92090629476. 4

Question Number : 70 Question Id : 9209067456 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : Five principles of peaceful coexistence known as
‘Panchsheel’ which is one of the fundamental principles of
India's foreign policy.

Reason (R) : Providing equal space is one of the five principles of
Panchsheel.

In the light of the above statements, choose the correct answer from the options
given below :

1. Both (A) and (R) are true and (R) is the correct explanation of (A)
2. Both (A) and (R) are true but (R) is not the correct explanation of (A)
3. (A)is true but (R) is false

4. (A)is false but (R) is true

Options :

92090629477. 1
92090629478. 2
92090629479. 3
92090629480. 4

Question Number : 70 Question Id : 9209067456 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1= 21 Fy U MU € UH SfUFHUA (Assertion A) F ¥ H ffad & A g1 IS SR
(Reason R}%W ﬁ;

sty A - oyl 9g-siftda & uia Rigidl &) de=iia & ¥4 & oF 9 ¢, o YRd
Fl few i & g Rgidddw e |

HRUR: vaeia & Rigidl & 3 U, 90 ®F UeH 3 ¢ |

SURIE Y & 3fdid H, I 13U 7 fab el | § el Iugdd I &1 994 Hifore

(1) AR RGH U8l & 3R R, A I el BN &

2  ASRRIH el §, AfF R A D1 G AR TE &
(3) AW AFIRUS TEIT

(4) AW TEIE AFTRISR

Options :

92090629477. 1
92090629478. 2
92090629479. 3
92090629480. 4

Question Number : 71 Question Id : 9209067457 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : Reservation of a State bill for the assent of the President is a
discretionary power of the Governor.

Reason (R) : This could be achieved through amending Article 156 of the
Indian Constitution.

In the light of the above statements, choose the correct answer from the options
given below :

1. Both (A) and (R) are true and (R) is the correct explanation of (A)
2. Both (A) and (R) are true but (R) is not the correct explanation of (A)
3. (A)is true but (R) is false

4. (A)is false but (R) is true



Options :

92090629481. 1
92090629482. 2
92090629483. 3
92090629484. 4

Question Number : 71 Question Id : 9209067457 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

911 €1 $YF QU U § U SAHFYA (Assertion A) & FU  H foiled 8 o g8R1 39F HRU
{(Reason R}%F‘I ﬁ;

HHFHYT A : T & B [J9gs &1 apuld &1 owid & o smRem Isgara &1
fadIeR ¢ |

PHRUIR ; ﬁugﬁnﬁﬁmu%aﬁu—%aﬁﬂsﬂm%mm@lwmm
I g |

IR Y & 3feie |, i 23U 7 fahal 7 9 el Iugd I &1 999 Hifou

(1) ASIRRGH T8l 3R R, A Bl g AT S

2) ASRRIH TElIE AFTR AT el AR S &
3) AUEE ABTRTS TR

(4) AWE TR, APTR TG &

Options :

92090629481. 1
92090629482. 2
92090629483. 3
92090629484. 4

Question Number : 72 Question Id : 9209067458 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : Judicial review is a process to restrain the executive or the
legislature from exercising power which may not be
sanctioned by the Constitution.

Reason (R) : The source of the power of judicial review in India is Article 12
of the Constitution.

In the light of the above statements, choose the correct answer from the options
given below :

1. Both (A) and (R) are true and (R) is the correct explanation of (A)
2. Both (A) and (R) are true but (R) is not the correct explanation of (A)
3. (A)is true but (R) is false

4. (A)is false but (R) is true

Options :

92090629485. 1
92090629486. 2
92090629487. 3
92090629488. 4

Question Number : 72 Question Id : 9209067458 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 1 $uA QU MU § UH SHUBUA (Assertion A) B FU  H [iREd g df TR1 39S HRU
(Reason R) F ¥Y T

B YA A - IS G BRI a1 fau HUed &1 34 Uidadl & UORT HE IR
3 T @1 Ueb Uighdl g [ diaey™ gR1 Sdiga =gl &1 o1 wavdi 8 |

HRUIR: YRA ¥ 1A Qe ot i &1 Aid U@ &1 o we - 128 |
SRIF $YA $ 3l H, 12 U 1T fahedl & 9 999 Iugad I &1 994 SIS

(1) A SIRREH TSl € 3R R, AP Ugl RS &

(2) ASIRR I 9ol g, Al R, A DI 9l UraT 781 &
(3) AUSE AFTRUA TR

(4) AUEITRIE ABIRTE R



Options :

92090629485. 1
92090629486. 2
92090629487. 3
92090629488. 4

Question Number : 73 Question Id : 9209067459 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following statements by Rabindranath Tagore on Indian nationalism
in order :

A. Politics in the West have dominated western ideals, and we in India are
trying to initiate you.

B. Our real problem in India is not political. It is social.
C. Each nation must be conscious of its mission.

D. From the very beginning, India has a problem of race.

Choose the correct answer from the options given below :

1. B ACD

2. B, ADC

3. ACBD

4 A,C,DB
Options :

92090629489. 1
92090629490. 2
92090629491. 3
92090629492. 4

Question Number : 73 Question Id : 9209067459 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Wi A1y R & YR Apare R Fafaiad Sy $1 98l srd | e feie

A.

B.
C.

D.

aigH ¥ e @1 ufde sresl 1R gdvd W81 § SR gH YRA H S ¥ 3SR HRA
FITHIAEE |

YRd § gAr arafds arieie wen TeHifs 78 8, afes ug aieis @
U Y B 39 A & aR 7 ¥ g1 =1iey
HRA § IR ¥ & ueifa (W) &1 Us THR 8

12 fau v fasedi @ 9 9l IR &1 994 Sl

(1) BACSRD

(2) B A D3RC

(3) ACB3RD

(4 ACDS3RB
Options :

92090629489. 1
92090629490. 2
92090629491. 3
92090629492. 4

Question Number : 74 Question Id : 9209067460 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below is Karl Marx’s formulation of ‘Base and Superstructure’ in a jumbled
order. Give the correct order :

A. The relations are relations of productions which correspond to a definite
stage of development of their material productive forces.

B. The relations are indispensable and independent of their will.

C. The sum total of these relations of production constitutes the economic
structure of society, the real foundation of a given society.

D. In social production of life, men enter into definite relations.

Choose the correct answer from the options given below :

i. D,A,C,B

2. D,B.AC

3. B,ADC

4. B,C,AD
Options :

92090629493. 1
92090629494. 2
92090629495. 3
92090629496. 4

Question Number : 74 Question Id : 9209067460 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



9 v g 9% HH § H1d 7 B YR SR SRR (@ TS YREEER) 1 97 B
T E | 9P el 3FshH Jars:

A

D.

4 HeY IATeH ey g, ol 9P Hifdd Ides Uaadl & e & ue Ridg o &
ITEUEAE |

A ey ARG § SR SIS AT T |

JAEA® 34 et &1 TN 39 AT &I 3H1fefes TTTAT T T34 Bl 6, o U UeH
AN & adia® YRR 8

Sitgq & Ay Icdre | aafad fAfda ddy dufay svar g

19 fou e fasedi 1 9§ el IR &1 994 Sifory ;

(1) DACB

(2) D,BAC

(3) BADC

4 BCAD
Options :

92090629493. 1
92090629494. 2
92090629495. 3
92090629496. 4

Question Number : 75 Question Id : 9209067461 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following statements by Mahatma Gandhi on civilization in right
order :

A.  This civilization takes note neither of morality nor religion.
B. Civilization is not an incurable disease.

C. The people of Europe today live in better-built houses than they did a
hundred years ago. This is considered emblem of civilization.

D. This civilization is such that one has only to be patient and it will be
destroyed.

Choose the correct answer from the options given below :

. C,A,B,D

2. DACEB

3. CADB

4 D,ABC
Options :

92090629497 1
92090629498. 2
92090629499. 3
92090629500. 4

Question Number : 75 Question Id : 9209067461 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HerH Tith & 9wl ) Fafdiad sy o1 98t srmn | afed fefor |

A,
B.
C.

D.

a9 a1 Afed, TR e m e T R
HIdl U 391e I A6l &

aoAE H 939 & @ U A1 9y gd & ga d der o 4 Affa neri A wa € 138
Gl & Uciich |1 STl @

Ug YWl 391 X8 @1 & & sufda &1 dam g 8 sik g Ay 8 st

1= feu e faswedi # § Ul 39 &1 994 Hifg -

(1) CABSRD

(2) D,A C3RB

(3) C A DS3MB

(4) D, ABS3RC
Options :

92090629497. 1
92090629498. 2
92090629499. 3
92090629500. 4

Question Number : 76 Question Id : 9209067462 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following in chronological order according the year of joining the
European Council / European Union :

A. Spain

B. Croatia
C. Greece
D. Bulgaria

Choose the correct answer from the options given below :

1 D C.B A

2. B.C.A D

3 ADBC

4. C.A DB
Options :

92090629501. 1
92090629502. 2
92090629503. 3
92090629504. 4

Question Number : 76 Question Id : 9209067462 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FafiieT & @iy uRue g 99 § 9fifed 89 & 9 & YR TR SIadpHaR
E’R‘ﬂ@lﬂm:

1= fau 7o fawedi # § 9l 39 &1 9894 il :

(1) DCBA
(2) B CAD
(3) ADBC
4 CAD,B
Options :
92090629501. 1
92090629502. 2

92090629503. 3
92090629504. 4

Question Number : 77 Question Id : 9209067463 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following in chronological order with regard to its year of formation :
A.  ASEAN

UN

SAARC

EU

NAM

mo o

Choose the correct answer from the options given below :
1. B,A,D,C,E
2. ABCED
32 B.,EACD

4. A ED,CB



Options :

92090629505. 1
92090629506. 2
92090629507. 3
92090629508. 4

Question Number : 77 Question Id : 9209067463 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafeiad &1 39d Fmiu & o & STUR W SR aRyd feion
A. IR (ASEAN)

B. WY Y (UN)
C. I (SAARC)
D. Yl 4d (EU)

E. 7[¢ F0a sfigia (NAM)
= fau v fawedl #§ ¥ Wl SR &1 =g S ;

(1) B,ADCE
(2} ABCED
3y BEACD
4 AEDEB

Options :

92090629505. 1
92090629506. 2
92090629507. 3
92090629508. 4

Question Number : 78 Question Id : 9209067464 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following provisions according to the Constitution of India :

A. Freedom of conscience and free profession, practice and propagation of
religion

Protection of interests of minorities
C. Prohibition of employment of children in factories

D. Protection in respect of conviction for offences

Choose the correct answer from the options given below :

1. A, B,D,.C

2 BACD

3. C.D.B.A

4 D,CAB
Options :

92090629509. 1
92090629510. 2
92090629511. 3
92090629512. 4

Question Number : 78 Question Id : 9209067464 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frafeied Iudsdl &1 R JfayH & SFuR gaiyd fefn

A, SA:H0 DI AR HH BT @Y TY Y HAA, JHDT AR Ud YR B DI Tasidl
B. SfeqdwH® alll & fgal &1 T

C. FHREH Has] $ FareE &1 ufay

D. 3O & for SIS & Hay H e

1= feu 7o faeedi § 9§ 9el I &1 944 Bifer

(1) ABDC

(2) BACD

(3) CD, BA

(4 DCAB
Options :

92090629509. 1
92090629510. 2
92090629511. 3
92090629512. 4

Question Number : 79 Question Id : 9209067465 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the following fundamental rights in the right order :
A. Right to constitutional remedies
B. Rightto life
C. Right to freedom
D

Right to equality

Choose the correct answer from the options given below :

1. D,C,B /A
2. CDAB
3. C,B,AD

4 DCAB



Options :

92090629513. 1
92090629514. 2
92090629515. 3
92090629516. 4

Question Number : 79 Question Id : 9209067465 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafafad Ja siteri & |8l erpn # arafiyd S
A, HiduHe IUER &1 HfUHR

B. Gildd &1 3MfUdR

C. Al BI SHUPR

D. HHME &I 3R

14 fow e faeredl # § gl IR &1 99 Sifo :

(1 DCBA
(2) CDAB
(3) CBAD
(4 D CAB
Options :

92090629513. 1
92090629514. 2
92090629515. 3
92090629516. 4

Question Number : 80 Question Id : 9209067466 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement| : Party alliances since the 1990s have been on territorial
compatibility than ideological compatibility.

Statementll : BJP's alliances of 1998, 1999, 2004 and 2009 were not
territorially compatible.

In the light of the above statements, choose the most appropriate answer from
the options given below :

1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement Il is incorrect

4. Statement | is incorrect but Statement Il is correct

Options :

92090629517. 1
92090629518. 2
92090629519. 3
92090629520. 4

Question Number : 80 Question Id : 9209067466 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EIE AT AT -

Y1 ;1990 ¥ Ul ToEYH dUIRE FEUAl & SuU USRI el (eReRad
Frifafere)) $ MR WL E |

FHYTII: 1998, 1999, 2004 3R 2004 3R 2009 F S (MR ST Uil & TSa8
eI ¥4 ¥ S FY el ¥ |

I By & el H A 20 70 fawedl § 8 |l I 999 Sifog

(1) FYFISRISAI9ds

(2) WY SR I EH S E

(3) HYTIHI G, AlFT HYT 1l A 8

(4) HYF| TG, AfbT HYT 1 T B

Options :



92090629517. 1
92090629518. 2
92090629519. 3
92090629520. 4

Question Number : 81 Question Id : 9209067467 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement| : Plato stated, “that the State comes into existence originating
in the bare needs of the life and continuing in existence for the
sake of good life.”

Statement 1l :  Machiavelli, in the Prince, considered that “the power which
has Authority over Men" is the State.

In the light of the above statements, choose the most appropriate answer from
the options given below :

1. Both Statement | and Statement |l are correct
2. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement |l is incorrect

4. Statement | is incorrect but Statement |l is correct

Options :

92090629521. 1
92090629522. 2
92090629523. 3
92090629524. 4

Question Number : 81 Question Id : 9209067467 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



RS FERumE:

BUA| : Wl A Bl Ul — '™ Sliaq DI daa agddrsl # IgHd gidx ffd & STl
2 3R 35 Siiad TR & BRI forg iffrd & IR warg 1

YT :  Diegad 7 T U= & 71 41 [ safda W 9«1 W arel Iied I §
JUIF HYF & 3ficid |, [l 18U 710 [awedl & 9 el Iavd! 994 S

(1) HYF ISR NS TG 8
2) YT SRS I
(3) YT A, Al HY 1| S 8
(4) Y| TG T, Afh PUA 1| T &

Options :

92090629521. 1
92090629522. 2
92090629523. 3
92090629524. 4

Question Number : 82 Question Id : 9209067468 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements :

Statement| : Robert Michels used the concept of ‘iron law of oligarchy’ to
describe the organization of political parties based on
domination by a ruling elite.

Statement |l : Maurice Duvergers law states that “the simple-majority
single-ballot system favours the two-party system”.

In the light of the above statements, choose the most appropriate answer from
the options given below :

1. Both Statement | and Statement |l are correct
2. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement Il is incorrect

4. Statement | is incorrect but Statement |l is correct

Options :



92090629525. 1
92090629526. 2
92090629527. 3
92090629528. 4

Question Number : 82 Question Id : 9209067468 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RSy RRum e

FYT| :  ac Y 3 U UHE UG g1 & guxd TR SR To-1idd aal & 96
19Ul B34 & o0 3 & dig FgH BT SEURUN &1 I9an fHar o1 |

Y11 R gasR & Frgw # ol 1 § S wR 9ghd, Uha  Hdard womd (@i
AR, Rivet see fiee) ety uormet 3 Rl 3 2 |

IUTd YA & 3fdid |, 1 S0 10 [asei 7 9 98t 3] 994 S

(1) YIRS TT 8

(2) Y| SR I EH T &

(3) YA | Td &, Al Y |l 3 8
(4) YA TG B, AP HYH 11 I B

Options :

92090629525. 1
92090629526. 2
92090629527. 3
92090629528. 4

Question Number : 83 Question Id : 9209067469 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement| : Theorists of global justice argue that the human beings, and
the State, are central to any theory of justice.

Statement!ll : Thomas Pogge rejected the existence of institutional
precondition for justice at the global level.

In the light of the above statements, choose the most appropriate answer from
the options given below :

1. Both Statement | and Statement |l are correct
2. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement |l is incorrect

4. Statement | is incorrect but Statement |l is correct

Options :

92090629529. 1
92090629530. 2
92090629531. 3
92090629532. 4

Question Number : 83 Question Id : 9209067469 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ATy REME:

YT | ;. dH A & Rgiderl &1 ad ¢ & 999 ok T 9 & 6l ofi Rigia &
Fag-fdg € |

YT 4 U A A TR W A & e e gd-ud & oifid & sRdigd
fear |

JUS HYF & 3feld |, A1 S U Aeai 1 9 g I 994 S

(1) FYHISRISHITIE
(2)  HYF| SR EE T §
(3) YA FA g, Alh DU || A B
(4) DY A B, AP FUF 11 TT 8

Options :



92090629529. 1
92090629530. 2
92090629531. 3
92090629532. 4

Question Number : 84 Question Id : 9209067470 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement| : During the first wave of democracy (1828-1926) nearly 30
countries, including Germany, established democratic
institution.

Statement Il :  The first wave of democracy was partially reversed (reverse

wave) between 1922 and 1942 in Germany and ltaly.

In the light of the above statements, choose the correct answer from the options
given below :

1. Both Statement | and Statement |l are true
2. Both Statement | and Statement |l are false
3 Statement | is true but Statement |l is false

4. Statement | is false but Statement Il is true

Options :

92090629533. 1
92090629534. 2
92090629535. 3
92090629536. 4

Question Number : 84 Question Id : 9209067470 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



RAsyfRume:

FYT| . ABad I UYH Te (1828-1926) & SR SHA] Ffgd T4 30 330 A diwdiE®
RT3 Bt RIGAT H1 41 |

FYFT I 1922 3R 1942 & " THAl 3R 3edl H didbad $ UYA  oe? HifkE ¥u 4
faudia fxn &1 X uae 3 (Rad 99 ) off

IR HYF & s | A 5 v 9wl 1 | wal I 994 S

(1) DYFISRIESHI I8

(2)  HYFI| R IEH] I B

(3) HYITA B, AP PUA Il T 8
(4) HYF| TG g, e FUF I TA 8

Options :

92090629533. 1
92090629534. 2
92090629535. 3
92090629536. 4

Question Number : 85 Question Id : 9209067471 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Article 226 of the Indian Constitution deals with
1. transfer of a judge
2 appointment of acting Chief Justice
3. appointment of additional judges

4.  power of High Courts to issue certain writs

Options :

92090629537. 1
92090629538. 2
92090629539. 3
92090629540. 4

Question Number : 85 Question Id : 9209067471 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YR HiAUH &1 o ase-226 [bud ddfia g ?
(1) =TT &1 ™ER

2) @ SR e gyl $1 g
(3)  oifaRe mie & FHgfd
4)  Siaud Rew o #31 & fau 3= array &1 Uidd

Options :

92090629537. 1
92090629538. 2
92090629539. 3
92090629540. 4

Question Number : 86 Question Id : 9209067472 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement| : Popular democracy is a form of indirect democracy.
Statement !l : It pre-supposes factional or sectional division.

In the light of the above statements, choose the correct answer from the options
given below :

1. Both Statement | and Statement |l are true

2. Both Statement | and Statement |l are false

3. Statement | is true but Statement Il is false

4. Statement | is false but Statement Il is true
Options :

92090629541. 1
92090629542. 2
92090629543. 3
92090629544. 4

Question Number : 86 Question Id : 9209067472 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) YA 3R S T R

(2) FYFI RN SH EI B

(3) HYF | HAE, Al HYA 1| 3 8
(4) YA | 3 g, Alh HUA || 9 &

Options :

92090629541. 1
92090629542. 2
92090629543. 3
92090629544. 4

Question Number : 87 Question Id : 9209067473 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following are true about representative democracy?
A.  Simple majority means more than half of those voting.

B. Blocking minority reflects a situation where a minority is able to prevent a
proposal from passing.

C. Absolute majority means more than half of those entitled to vote.

D. Qualified majority demonstrates more than a simple majority which is
typically two-third majority.

E. Concurrent majority indicates the largest number of votes but not
necessarily a majority.

Choose the correct answer from the options given below :
1.  A.Band C only
2. DandE only
3. A B,CandDonly
4. A, B, CandE only

Options :

92090629545. 1
92090629546. 2
92090629547. 3
92090629548. 4

Question Number : 87 Question Id : 9209067473 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFrafafEa 7 8 $19 8 Hy= ufafAfte deds F IR A wel g 2
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@ra’lfé‘laﬁagnﬂiﬂm
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qgHd

14 fau e fasedi & 9 Wel SR &1 994 Sifou ;

(1) &ad A B3RC
(2) HAADSIIRE

(3) ®dd A BCS3RD
(4) dd A, B, C3RE

Options :

92090629545. 1
92090629546. 2
92090629547. 3
92090629548. 4

Question Number : 88 Question Id : 9209067474 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following are correct about the Governor of a State?

A.  The Governor holds office during the pleasure of the President.

B. The minimum age for getting appointed as a Governor is 30 years.
C. The President conducts the Oath of the Governor.
D

The Governor has the power to grant pardons and to suspend, remit or
commute sentences in certain cases.

E. The Seventh Constitutional Amendment Act mandates both the States to
share the emoluments and allowances of the Governor in case the same
person is appointed as Governor of two States.

Choose the correct answer from the options given below :
1. C,Dand E only
2. A, C,DandE only
3. A BandConly

4. A, DandE only
Options :
92090629549. 1
92090629550. 2
92090629551. 3
92090629552. 4

Question Number : 88 Question Id : 9209067474 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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C. ISOUTd & U Hiduy AE § & $3 R Fdfag &=, gl &1 Ut & m
wUaid & &1 wfdd 8

D. Wradi Gfdu WLe= 39 A H 39 a1 Isdl 6 ASIUTd b gRem GHIgHEE) SR
Yl D] TSN H &1 AN Sl &, Fored 21 asdl & foe v & afad &) asgurd &
=y § fAge fbar ST @

14 feu U fasedi # 9 Ul 3R &1 994 Difag

(1) @&dd C, D, E

(2) &add A C D3RE

(3) @ad A B3RC

(4) HAd A D IE
Options :

92090629549. 1
92090629550. 2
92090629551. 3
92090629552. 4

Question Number : 89 Question Id : 9209067475 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which among the following statements are true about legal equality?
Legal equality does not guarantee equality of treatment by the law.
Legal equality contradicts rule of law.

Legal equality is a prominent characteristic of civil society.

Legal equality does not abolish special privileges.

m o o =B »

Legal equality cannot be the basis for contract based relations.
Choose the correct answer from the options given below :

1. A, CandE only

2. AandC only

3. CandEonly

4.  AandD only

Options :

92090629553. 1
92090629554. 2
92090629555. 3
92090629556. 4

Question Number : 89 Question Id : 9209067475 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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12 fau 7 faeredl § 9 Tel IR &1 904 Sifei ;

(1) &dd A C3RE
(2) @&ad A3MRC

(3) &ad C 3MRE

(4 &ad ASRD

Options :

92090629553. 1
92090629554. 2
92090629555. 3
92090629556. 4

Question Number : 90 Question Id : 9209067476 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which among the following statements are true about institutional liberalism in
international relations theory?

A. Institutional liberals claim that international institutions help promote
cooperation between States.

B. The extent of institutionalization can be measured by depth and scope.

C. A high level of institutionalization reduces the destabilizing effects of
multipolar anarchy.

D. The role of institutions lies in strengthening international agreements.
E. Institutions however cannot make up for lack of trust between States.
Choose the correct answer from the options given below :

1. A,B,CandD only

2. B,C,DandE only

3. A, CandDonly

4. A, C,DandE only
Options :
92090629557. 1
92090629558. 2
92090629559. 3
92090629560. 4

Question Number : 90 Question Id : 9209067476 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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E.
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GRITH &1 a9 IR 1 Te-Td1 3R BTAEE (FH1Y) gRI1 {191 Sl Yol §

UFh IE-ERI GRITH Tg-Yd1g SRTeidhdl & SfRRAISR wuTal # Sl ardn g
Heursfl @1 yffrepT siafdia wrghdl &1 weigd &9 # Afga 8

ifes, FRIE Il & o1 Ay of Sl 1 QU Tel IR Jhdl

=13 fau o fasei # @ el IR &1 994 Sifore :

(1) ®ad A B, C3RD

(2) &4d B,C, D3RE

(3) ®ad A C3RD

(4) dd A C, DIARE
Options :

92090629557. 1
92090629558. 2
92090629559. 3
92090629560. 4

Question Number : 91 Question Id : 9209067477 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which among the following statements are true about the different approaches
to the study of comparative politics?

A. Institutional analysis examines the functioning of and relationships between
institutions in a given moment.

B. New institutionalism is a revival of institutionalism that looks at how
institutions shape decisions and define interests.

C. The behavioural approach focuses on the study of constitutions, institutions
and organizational charts.

D. Structuralism examines relationships among parts rather than the parts
themselves.

E. The rational choice approach explains political action through statistical
generalization rather than interest of the actors.

Choose the correct answer from the options given below :
1.  A,Band D only

2. A, BandConly
3. A CandEonly
4. B, DandE only

Options :

92090629561. 1
92090629562. 2
92090629563. 3
92090629564. 4

Question Number : 91 Question Id : 9209067477 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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A < Tad YT & ST 4T & die Gaei #1 il Bt
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414 fau e fasedi © | 9l IR &1 994 iforg

(1) &ad A, B3RD

() ®ad A BHRC

(3) ®ad A, C3IRE

(4) Hdd B, DIRE
Options :

92090629561. 1
92090629562. 2
92090629563. 3
92090629564. 4

Question Number : 92 Question Id : 9209067478 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



It has been found about the Election Commission of India
A. The end of emergency led to decline of the Election Commission of India
B. Inthe 1990s, the Commission faced regulatory activism

C. The assertiveness of the Election Commission was largely due to an alert
media and strong opposition

D. Even, the Chief Election Commissioner, T. N. Seshan contributed to
protecting the sanctity of democratic elections

Choose the most appropriate answer from the options given below :
1.  A,BandC only
2. B,CandDonly
3. A, CandDonly

4. A, BandD only

Options :

92090629565. 1
92090629566. 2
92090629567. 3
92090629568. 4

Question Number : 92 Question Id : 9209067478 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) &qd A, B,C
(2) @&dd B CD
(3) @&dd A,C, D
(4) &dd A B,D
Options :

92090629565. 1
92090629566. 2
92090629567. 3
92090629568. 4

Question Number : 93 Question Id : 9209067479 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



On the question of State sovereignty
A. Issues of global concern cannot challenge external sovereignty of the State

B. Such issues cannot bring multilateral pressure on decision making of the
States

C. Human rights movements affect the policy of internal security of the States

D. Human rights issues are also deployed by the States to influence each
other's decisions

Choose the most appropriate answer from the options given below :
1. A andB only
2. CandD only
3. AandDonly

4. B and C only

Options :

92090629569. 1
92090629570. 2
92090629571. 3
92090629572. 4

Question Number : 93 Question Id : 9209067479 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) ad A3RB
(2) ®ad C3RD
(3) ad ASIRE
(4 ¥dd B 3RC
Options :

92090629569. 1
92090629570. 2
92090629571. 3
92090629572. 4

Question Number : 94 Question Id : 9209067480 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—| with List-l :

List— List-I1
Theories of Nationalism Theorist
(A) | Primordialism (1) Ernest Gellner
(B) | Ethno-symbolism (1) | Adrian Hastings
(C) | Perennialism (1) | Anthony Smith
(D) | Modernism (IV) | Walker Connor

Choose the correct answer from the options given below :
1T (A (BHIV): (C)=(1): (D)=(1)
2. (Al (By(1); (CH=(IT): (DHIV)
3. (A (B)=(1): (CH(IV): (D)1
4. (A(IV): (B)=(H1); (CH(1): (D))

Options :

92090629573. 1
92090629574. 2
92090629575. 3
92090629576. 4

Question Number : 94 Question Id : 9209067480 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(D) SmYfAsdl (Iv) af SR

19 fau v fawedi O 9§ 9El I &1 994 Sifer:

(1) (A=), (B)-(1V), (C)-(11), (D)-(111)

(2) (A, (B)-(1), (C)-(11), (D)-(IV

(3)  (A)-(), (B)-(I1), (C)-(IV), (D)-(I)

@) (A-(V), (B)-(), (O)-(), (D)-(D)
Options :

92090629573. 1
92090629574. 2
92090629575. 3
92090629576. 4

Question Number : 95 Question Id : 9209067481 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—| with List—Il :

List— List-Il
Political Thinkers Books
(A) | Mary Wollstonecraft (Iy | Sexual Politics
(B) | Kate Millett (1) | The Female Eunuch
(C) | Germaine Greer (1) | A Vindication of the Rights of
Woman
(D) | Judith Butler (IV) | Gender Trouble

Choose the correct answer from the options given below :
(A)y=(l1n; (B)=(I1); (C)-(IV): (D))
2. (AW-(lI); (B)(IV); (C)-(1); (D))
3. (A(I); (B)~{1); (C}-(Il); (D}-(IV)
4. (AN (B)(1): (C(IV); (D))

-

Options :

92090629577. 1
92090629578. 2
92090629579. 3
92090629580. 4

Question Number : 95 Question Id : 9209067481 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) (A)-(IIT), (B)-(ID), (C)-(IV), (D)-(D)
(2) (A)-(III), (B)-(IV), (C)-(I), (D)-(IV)
(3) (A)-(IID), (B)-(I), (C)-(ID), (D)-(IV)
(4)  (A)-(IID, (B)-(I). (C)-(IV). (D)-(IL)

Options :

92090629577. 1
92090629578. 2
92090629579. 3
92090629580. 4

Question Number : 96 Question Id : 9209067482 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—| with List-II :

List-I List-l
Philosophers Central Idea
(A) | Machiavelli (I) | Self-preservation
(B) | Hobbes () | General will
(C) | Locke (ll) | Seize absolute authority
(D) | Rousseau (IV) | Limited government

Choose the correct answer from the options given below :

1. (AR (BI(IV): (CH(1): (D)D)

2. (A(IV); (B)(1): (C)=(I1); (D)=(lll)
3. (A)-(); (B)(1): (C)-(V); (D)-(1I)
4. (A(IV); B-I); (C)-{1); (D)-(l1)
Options :

92090629581. 1
92090629582. 2
92090629583. 3
92090629584. 4

Question Number : 96 Question Id : 9209067482 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) (A)-(), (B)-(1v), (O-(1), (D)-(1N)
(2)  (A-(1V), (B)-(I), (C)-(1), (D)-(HN)
(3)  (A)-(l), (B)-(1). (O)-(IV), (D)-(II)
(4)  (A)-(v), (B)-(I), (©-(D), (D)-()

Options :

92090629581. 1
92090629582. 2
92090629583. 3
92090629584. 4

Question Number : 97 Question Id : 9209067483 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—! with List-ll :

List—I List—II
Writs Corresponding Meaning
(A) | Habeas Corpus (I) | Enquiring into the legality of the claim
to a public office
(B) | Mandamus () | Command
(C) | Certiorari () | To have a body
(D) | Quo Warranto (IV) | Quash the order or decision of the
tribunal

Choose the correct answer from the options given below :

T (AR (BYI) (CR=(H); (DHIV)

2. (A(IV); (B)=(II); (C)=(I1); (D)~(1)
3. (A(I; (B)(I1); (CH-IVY; (D))
4. (AI); B)=(lIL); (C)1): (D)~(IV)
Options :

92090629585. 1
92090629586. 2
92090629587. 3
92090629588. 4

Question Number : 97 Question Id : 9209067483 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(D) SMYPR g3 (v) e & e a1 fAofg
& R &

= feu e faedi | 9dl IR &1 994 S

(1 (A0, B)-(1), (O)-(1), (D)}-(IV)

)~
(2} (A)-(V), (B)-(IH1), (C)-(11), (D)-(1)
(3) (A, (B)-(11), (C)-(1V), (D)-(D)
(4) (A=), (B)-(I), (C)-(1), (D)-(IV)

Options :

92090629585. 1
92090629586. 2
92090629587. 3
92090629588. 4

Question Number : 98 Question Id : 9209067484 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—| with List-II :

List— List—!I
Electoral System Countries
(A) | Single member plurality (I} | Ireland
(B) | Single transferable vote (1) | Germany
(C) | Mixed member proportional (lI1) | South Africa
(D) | List system (IV) | Canada

Choose the correct answer from the options given below :
1. (AIV); (B)(1); (C)=(I1); (D))
2. (Al (B)~(1): (CH-(I): (D)(IV)
3. (A(IV); Bl (C)~(1); (D))

4. (A (BYHIV): (C)-(1); (D))

Options :

92090629589. 1
92090629590. 2
92090629591. 3
92090629592. 4

Question Number : 98 Question Id : 9209067484 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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© A% vew srufds () ST&or it
(D) =T Vot (V) &S]

12 feu e fasedi # 9wl IR &1 994 DI

(1) (A=), (B)-(1), (C)-(IN), (D)-(IH1)

(2) (A=, (B)-(1), (C)-(I), (D)-(IV)

(3)  (A)-(V), (B)-(1), (O)-(1). (D)-(1N)

(4)  (A)-(ln), (B)-(IV), (C)-(IN), (D)-(1)
Options :

92090629589. 1
92090629590. 2
92090629591. 3
92090629592. 4

Question Number : 99 Question Id : 9209067485 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List=l with List=l| :

List— List—Il

(A) | Wilson's Fourteen Points, speech (I) | Triumph of liberalism
over all other ideologies

(B) | Francis Fukuyama's The End of | (ll) | Creation of regional
History parliaments

(C) | David Held's cosmopolitan model (II1) | A general association of
of democracy nations must be formed

(D) | G. John lkenberry's crisis of the | (IV) | The erosion of
liberal order sovereignty norms

Choose the correct answer from the options given below :

1. (A(I); (B)=(I); (C-(1V); (D))
2. (A(IV); B)-(): (C)=(11); (D))
3. (A (B)(1): (C)(Il); (D)(IV)
4. (A(I): (BI(I); (C)(I); (DI(1V)

Options :

92090629593. 1
92090629594. 2
92090629595. 3
92090629596. 4

Question Number : 99 Question Id : 9209067485 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



| & 91y g 1| @ e S

- gt -
(A) facE &1 digg Ty () TERaE ® 9 o
faaryrR R fag
(B) Wil pHar & ad § U8 () &g dual & i
() <fd8 g sIMifasd Algd (y TP & TS WA Y
(EEIREH) &1 fAni
3fqy & SirEr arigu
(D) Gl Wi ST B Qddh- BISHT  (IV) T & 98] &1 &R0l
31 g faRd amsy

Hi= fau v faeedi § 9 Wl I &1 984 DI

(1) (A=), (BY-(I1), (C)-(V). (D)-(1)
(2)  (A)-(V), (B)-(I), (C)-(), (D)-(1t)
(3)  (A)-(l), (B)-(1), (C)-(IN), (D)-(IV)
(@) (A=), B)-(1), (C)-(1), (D)-(IV)

Options :

92090629593. 1
92090629594. 2
92090629595. 3
92090629596. 4

Question Number : 100 Question Id : 9209067486 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List=l with List=ll :

List—I List—I

Directive Principles of State Policy Article

(A) | Organization of village panchayats (1) | Article 49

(B) | Workers participation in management (1) | Article 40

(C) | Protection of monuments () | Article 50
(D) | Separation of judiciary from executive (IV) | Article 43A

Choose the correct answer from the options given below :
(A)=(11); (B)=(IV); (C)=(1); (D)—(111)
2. (A(ID; (B}=(IV): (C)=(1); (D)
3. (AX(V): (B)(1); (C)=(I); (D)-=(IN)
4. (AR(); (BYHIV): (CH(1): (D)-(IN)

—

Options :

92090629597. 1
92090629598. 2
92090629599. 3
92090629600. 4

Question Number : 100 Question Id : 9209067486 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A 1 & Ty g 0 T e S
dl-1 T & Hifa FEwe Rgia et il S

(A) T Ul BT T3 () 3IE5a 49

(B) Hes & uged § Urfierd () 3fI%84 40

(C) TIR®I BT TI&U (1) SFI=SE 50

(D) OEUfIH &1 SEUfdST I (Iv) =6 430
QUFHI]

412 feu T fasedi ¥ | 9dl IR &1 984 S

(1} (A=), (B)-(IV), (©)-(1), (D)-(1)
(2) (A=, (B)-(IV), (O)-(1), (D)-(1)
(3)  (A)-(V), (B)-(1), (C)-(Il1), (D)-(1N)
(4} (A)-(n), (B)-(V), (Q)-(1), (D)-(1)

Options :

92090629597. 1
92090629598. 2
92090629599. 3
92090629600. 4



